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1:K, atm, 1/mol, cal
2:C, atm, | /mol, cal
3R, psi, cu. ft. /Ib-mol, Btu
4:F psi,cu. ft. /lb-mol, Btu
5:C, mmHg, | /mol, cal
6:K, MPa, | /mol,J 7:C, MPa, |/mol, J
8:C, atm, cm*x3/g, cal or J
9:C, kgf/cm*x2, mxx3/kg, cal
10:K, kgf/cm*x2, m¥+3/kg, cal 11:fin

1
Enter BEEHE 1'BEFEM2YHERT 2:Fzvsy 9T
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IR D EILEERK= 0. 001
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===== Base enthalpy,H (or entropy, S) calculation starts =====
*Base-h/s A#
Eneter=4%—/R— KA
1 = 3R (273.15K) %+H % Base flE&E L T



wrkk SURTE G a) Hrrk
T =273.15 (degK) P = 0.6106E-02 (atm )

ELRE [R 3 T | K-value
i %) X y y/x
1 H20 0. 999000 0. 999000 1..000000 0. TO0E+01
2 C3H6 0.001000 0.001000 0. 000000 0. 155E-06
[EfEfHR 0. 00000 0. 99956
B ( mol/L ) 67.9180 67.9180 0.0003
fHEILLE 1.00000 0. 00000
enthalpy (cal/g) -3824.6 -3824.6 -3218.7
enthalpy ( cal/mol ) -69011.1 -69011. 1 -58000. 5
entropy ( cal/g.K) -2. 31 -2. 31 -0. 07
entropy  ( cal/mol.K) -41.73 -41.73 -1.17

====== Base Enthalpy or Entropy calc. is just finished ======
( Above values h or s will be set to 0 )

% h/s E— FDOEIR
=FT R IWE—HE, TURILE—ZHENDSEA
=% T hOF—HE, TV FOF—EHENDSEA

6=h/s SRS L, Base fE & LB
5
spokorkktokdkk Target S Calculation starts sekkksoksorsksork
*EITY FAE—Target DREFIR/EL TLZEL
1234. ... T.....—= P VR 8:Help, 9:Et&E#T
7 2 673 20
sxkx Properties of Homogenious VAPOR phase kx
T =673.00 (deg-K) P = 0.2000E+02 (atm )
mole fraction feed fugacity
i component (atm )
1 H20 0. 9990 19.45
2 C3H6 0. 0010 0.02
compressibility factor 0.9730
density ( mol/l ) 0.3722
delta(g)mixture/r/t (=) 2.961
enthalpy ( cal/g) 791.7
enthalpy ( cal/mol ) 14285.5
entropy ( cal/g.K) 1.76
entropy  ( cal/mol.K) 31.80
Entropy: Calc.= -41.73 Target= 31.80 Difference -73.53( cal/mol.K)

Target EIZRBEFEEH TCOHAATEEL D T Difference S EIXEN. FH CEHEEZRELE



REFTEL, TOEO S A 673K 20 atm(=2MPa) TOKRMAED S LR LICLEHETRYRT.
AHDE N ELGS.

1234. ... T.....—- P——— V/E 8:Help, 9:EtHE#RT

dowkk SR (R m) pokorok
T =321.61 (deg—K) P = 0.1000E+01 (atm )

EILDE [R# T =B K-value
i 5 X y y/X
1 H20 0. 999000 0. 999000 0.111126 0. 111E+00
2 C3H6 0. 001000 0. 001000 0. 888874 0. 889E+03
[E#EHRE 0. 00062 0.99067
EE( mol/L ) 61.4734 61.4734 0. 0383
HEILL 1.00000 0. 00000
enthalpy ( cal/g) 69.0 69.0 1698. 4
enthalpy ( cal/mol ) 1245.0 1245.0 66929. 4
entropy ( cal/g.K) 0.24 0.24 0.26
entropy  ( cal/mol.K) 4,28 4.28 10. 43
Entropy: Calc.= 4.28 Target= 4.28 Difference 0.00( cal/mol.K)

Target s is 0.4281E+01( cal/mol.K)
skrrdkokokk Target H or/& S Calculation is just finished sk

*x “1"AHR =1(TFvPa) or THYHE), »D
* TLPAZ (DT HEANEL POWTIhMNZER:, FEH/FSEHE
Bl NLT | EREE. THRRAT—DEKED
@D T HEWNFPOLWTIIEAN: HE/S EFHE
(5 . BRI DEET)

1234....T.....— P—— V/E L 8:Help, 9:FtEHKT

wekk FURTME Glhm) #xxx
T =321.61 (deg—K) P = 0. 1000E+01 (atm )

EILDE [RH &HE S K-value
i 5 X y y/x
1 H20 0.999000 0. 999000 0.111126 0. 111E+00
2 C3H6 0.001000 0. 001000 0.888874 0. 889E+03
[EHERE 0. 00062 0.99067
B ( mol/L ) 61.4734 61.4734 0.0383
HEIL 1.00000 0. 00000
enthalpy ( cal/g) 69.0 69.0 1698. 4
enthalpy ( cal/mol ) 1245.0 1245.0 66929. 4

entropy ( cal/g.K) 0.24 0.24 0.26



entropy  ( cal/mol.K) 4,28 4.28 10. 43
Entropy: Calc.= 4.28 Target= 4.28 Difference 0.00( cal/mol.K)
1234. ... T.....—= p— V/F.. 8:Help, 9:5tEKRT
2 1. 1
workok SR T (58 R #xork
T =373.64 (deg—K) P = 0. 1000E+01 (atm )
EILHE [R¥ & =48 K-value
i 5 X y y/X
1 H20 0. 999000 1..000000 0. 999000 0. 997E+00
2 C3H6 0.001000 0. 000000 0. 001000 0. 255E+05
[EfEHR % 0. 00058 0. 98372
B ( mol/L ) 0.0332 56. 1158 0. 0332
fHEIILLE 0. 00000 1..00000
enthalpy ( cal/g) 655.7 113. 4 655.7
enthalpy ( cal/mol ) 11831.2 2042.6 11831.2
entropy ( cal/g.K) 1.82 0.38 1.82
entropy  ( cal/mol.K) 32.82 6.82 32.82

Entropy: Calc.= 32.82 Target= 4.28 Difference

28.53( cal/mol.K)

1234. ... T.....—= P———- V/E. . 8:Help, 9:Et&E#T
2 360 1
wokrok SR T (88 1) workk
T = 360.00 (deg—K) P = 0.6024E+00 (atm )
ELRE R LT B K-value
i %) X y y/x
1 H20 0. 999000 1.000000 0.999000 0.997E+00
2 C3H6 0.001000 0. 000000 0.001000 0. 533E+05
[EfEiR i 0. 00035 0.98842
B ( mol/L ) 0.0206 57.4619 0.0206
fHEILLE 0. 00000 1. 00000
enthalpy ( cal/g) 650. 5 101.5 650. 5
enthalpy ( cal/mol ) 11736.8 1829. 3 11736. 8
entropy ( cal/g.K) 1.86 0.35 1.86
entropy  ( cal/mol.K) 33.55 6.23 33.55

Entropy: Calc.= 33.55 Target= 4.28 Difference

8:Help, 9:

dorotok ST 1 (58 1R okorx

29.27( cal/mol.K)

RERT



T =373.64 (deg—K) P = 0. 1000E+01
ELRE [R ¥4 T
i D% X
1 H20 0. 999000 1..000000
2 C3H6 0. 001000 0. 000000
[EfEHR 0. 00058
BE( mol/L ) 0.0332 56. 1158
tHEIILLE 0. 00000
enthalpy ( cal/g) 655. 7 113.4
enthalpy ( cal/mol ) 11831.2 2042.6
entropy ( cal/g.K) 1.82 0.38
entropy  ( cal/mol.K) 32.82 6.82

Entropy: Calc.= 32.82 Target=

wrkok SR T (58 M) +xrk

T =370.00 (deg-K) P = 0.8751E+00 (atm )
EILNE [R 3 T | K-value
i L5 X y y/x
1 H20 0. 999000 1. 000000 0. 999000 0. 999E+00
2 C3H6 0.001000 0. 000000 0.001000 0. 328E+05
[E#EfRE 0. 00051 0.98512
HE( mol/L ) 0.0293 56. 4691 0.0293
HEILL 0. 00000 1..00000
enthalpy ( cal/g) 654. 3 110.1 654. 3
enthalpy ( cal/mol ) 11806.6 1984.9 11806. 6
entropy ( cal/g.K) 1.83 0.37 1.83
entropy  ( cal/mol.K) 33.01 6. 66 33.01
Entropy: Calc.= 33.01 Target= 4.28 Difference 28.73( cal/mol.K)
1234....T.....—- P———— V/F 8:Help, 9:EtEKRT
2 380. 1

dorotok ST T (58 1R okorx

4.28 Difference

(atm )

< K-value
y y/X
0. 999000 0. 997E+00
0. 001000 0. 255E+05

0.98372
0.0332
1.00000
655. 7
11831.2
1.82
32.82

8:Help, 9:5tE#KT

T =2380.00 (deg—K) P = 0.1248E+01 (atm )
EILDE [RH &HE = K-value
i 5 X y y/x
1 H20 0.999000 1.000000 0.999000 0. 998E+00
2 C3H6 0.001000 0. 000000 0.001000 0. 153E+05
[EHERE 0.00072 0.98114
B ( mol/L ) 0.0408 55. 5082 0. 0408

28.53( cal/mol.K)



HEILL
enthalpy ( cal/g) 658. 0
enthalpy ( cal/mol ) 11873.7
entropy ( cal/g.K) 1. 80
entropy  ( cal/mol.K) 32.50

Entropy: Calc.= 32.50 Target=

dorkok SR T (B8 M) dorokok

0. 00000 1.00000
119.0 658. 0
2145.0 11873.17
0.39 1.80
1.09 32.50

4.28 Difference 28.21( cal/mol.K)

8:Help, 9:EtE#T

T = 400.00 (deg-K) P = 0.2389E+01 (atm )
EIILHE [R 3 & =48 K-value
i 5% X y y/x
1 H20 0. 999000 1.000000 0. 999000 0. 998E+00
2 C3H6 0.001000 0. 000000 0.001000 0. 384E+04
[EfEHR 0.00136 0.97110
B ( mol/L ) 0.0750 53. 6681 0.0750
fHEILLE 0. 00000 1.00000
enthalpy ( cal/g) 665. 0 137.6 665.0
enthalpy ( cal/mol ) 11999. 8 2479.8 11999. 8
entropy ( cal/g.K) 1.75 0.44 1.75
entropy  ( cal/mol.K) 31.56 7.94 31.56

Entropy: Calc.= 31.56 Target=

4.28 Difference 27.28( cal/mol.K)

1234....T.....—- P——— V/F. . 8:Help, 9:Et&EKRT
2 390 1
wokrok SR T (88 ) workk
T =390.00 (deg-K) P = 0.1746E+01 (atm )
EILNE [R 3 T B K-value
i %) X y y/x
1 H20 0. 999000 1. 000000 0. 999000 0. 996E+00
2 C3H6 0.001000 0. 000000 0.001000 0. 581E+04
[E#EEHRE 0.00100 0.97645
EE( mol/L ) 0.0559 54.5756 0. 0559
HEILL 0. 00000 1..00000
enthalpy ( cal/g) 661.6 128.2 661.6
enthalpy ( cal/mol ) 11938.1 2309.9 11938. 1
entropy ( cal/g.K) 1.717 0.42 1.77
entropy  ( cal/mol.K) 32.01 7.51 32.01
Entropy: Calc.= 32.01 Target= 4.28 Difference 27.73( cal/mol.K)



1234. ... T.....—- P———— VR 8:Help, 9:EtHERRT

sk SR (T 85) ork
T =395.00 (deg-K) P = 0.2045E+01 (atm )

EILHE [R¥ & =48 K-value
i 5 X y y/X
1 H20 0. 999000 1..000000 0. 999000 0. 998E+00
2 C3H6 0. 001000 0. 000000 0. 001000 0. 337E+04
[EfEHR % 0.00117 0. 97389
BE( mol/L ) 0.0648 54.1189 0. 0648
fHEIILLE 0. 00000 1..00000
enthalpy ( cal/g) 663. 3 132.9 663. 3
enthalpy ( cal/mol ) 11969.4 2394.2 11969. 4
entropy ( cal/g.K) 1.76 0.43 1.76
entropy  ( cal/mol.K) 31.78 1.73 31.78
Entropy: Calc.= 31.78 Target= 4.28 Difference 27.50( cal/mol.K)
1234, ...T7.....—— p——- CUV/E 8:Help, 9:Et&E#T

673K, 2.0MPa(=20 atm) DRAZEIT > rOE—ZTlbESEDE, BEHEEHEEL 395K,
2.0 atm &% 5.

AH=791.7 - 663.3= 128.4 cal/g =536.7 kJ/kg

Li=hoT

536. 7x100/3600= 14.9 kJ/s=14.9kW DENH %55



